3]
(D) Pl=ou1
i N Bk =5r3 X Afe) (KFARD 12517

@- 1
’ x
fﬂ.\ é?a' l M = Nsinf, o

: Y Aifa (80 & Afa1) [=ou7
. © (~::" Mha = ‘mg—NCoSOﬂ(J_)

X Ao (kFFfe) =20
M(=A=—-Nsind
= MA=Nsné,

H(3)

giﬁf;\ (%éﬁfﬂ D=2 uz

M>Q = NCoSQ—I-mO‘l—R
- (%)

(71&voR et x3)

1-20 L EEBRERE 6/16



39 %%
(5)

RAE A &R Lho —e 1= 3 X58%440 T2 €33 PEE<h3.
S A8 B vso 3R A £H 12355 o B4R,

\\f{ﬁ%@ I= 7.7 & %4
/72 B sEoZi:REa s or

Kaxs e £ 13
—>
“ D?a—?P = 5\.9’, = A
= X A3, H =33y,
—_
A
/ i«i\J %
._9 i
Dgosp

THAFIE =L E G A

ARk 1= #1130
Ao :(A"‘al) tome#(s)

X, BASR vz BARESX- L2 &=5

I A a, AR okl —%)‘f%.
| \\f\E " A 7{ £pA™ f‘—} =
=/

o2 2"

Ry = (A“ar)tan_@Jllr

|

1-20 L EEBRERE 7/16



